
No. of Printed Pages : 7 I EEC-11 
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co 	ELECTIVE COURSE : ECONOMICS 
(NI 
Cpl 	 EEC-11 : FUNDAMENTALS OF 

ECONOMICS CD 
Time : 3 hours 	 Maximum Marks : 100 

(Weigh tage : 70%) 

Note : Answer questions from all sections as per instructions. 

SECTION - A 

Attempt any two questions from this section in 
about 500 words each : 	 2x20=40 

1. Explain how a discriminating monopolist reaches 
equilibrium. 	What are the underlying 
assumptions for a discriminating monopolist ? 

2. Explain how equilibrium output and price are 
determined in the Keynesian model ? 

3. Distinguish between income effect and 
substitution effect. Show their interaction in the 
case of a Giffen good. 

4. Explain the theory of rent as propounded by 
Ricardo. 
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SECTION - B 

Answer any four questions from this section in 
about 250 words each. 	 4x12=48 

5. Explain the theory of comparative cost advantage 
with a suitable example. 

6. Explain how wage rate is determined under 
marginal productivity theory ? 

7. What is meant by oligopoly ? Explain how 
equilibrium price is determined in an oligopolistic 
market in the presence of dominant price 
leadership. 

8. Explain how household, firm and government 
interact in circular flow of income ? 

9. Discuss the loanable funds theory of interest rate 
determination. 

10. What is meant by demand for money ? Describe 
different motives of holding money according to 
Keynes. 
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SECTION - C 

Answer all questions from this section in about 
100 words each. 	 2x6=12 

11. Write short notes on any two of the following : 

(a) Kinked demand curve 

(b) Income elasticity of demand 

(c) Consumer surplus 

(d) Iso-cost curves 

12. Distinguish between any two of the following : 

(a) Balance of trade and Balance of payments. 

(b) Average and Marginal propensity to 
consume 

(c) Multiplier and Accelerator 

(d) Fixed exchange rate and flexible exchange 
rate systems. 
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